EANRAROBESIFRT — 2 N—ZABISH—F 20195128188 (k) 20EI&BEE1H

M C22# C22 ¥5%—#% EEDE T
[AE4£] 1% :270,000™  23%&:76,000 M  33%&:43,000 M  43%&:27,000MH . 573&:16,000
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
S aos s Hhi ) : 00— — AEEh (BHE
1lsls|I¥I>NT1—F i3 54.0? 1'(3_1)'8 22z 395 2 520) AHBE )
L:FHh¥<T7rZX8 BAVIALT1— BXRAUS
_ R R AR .30 W . — TR (BHE)
28|10 77T KFA> SRk W | TR R
LF=TANNTh BUTSA4AIFXRR AR
N o OIS — : -1-1- - AOBFH (BHE)
3l1lq|*x1vamT—n i 3 Ing 1.(332).7 1-1-1-1 | 40.6 6 (51283) e
R A k=L B:x14Y39I5+4 3 & HAEAKS
2 4 3 | FEakE 1:32.8 10-9-9-5 [39.2| — 8 42 | BROE (BEB)
sRN 3| EvT 56.0 (1/2) (14 | BHHEER
L:IMA2>77v2a2 BEVY-4Z b HBTr—L
3 = ft 3 | ABBIR 1:33.3 5-7-7-6 | 40.2 | — 7 438 | BREPR (BERB)
5 g|IYhT A2 54.0 2 1/2) (o) | FEBEUE
R:vayFrheT B:IHbrz— A+t A
o 4 3 | FIHRE 1:33.3 7-6-4-4 | 40.6 | — 4 413 |#HLEE (BEFE)
c PN 4 NT—0Or) 56.0 (NF) +1) (B) £0
RNX—HNK B:vFHRAKRII 45
. S i3 | HWIHEA 1:33.7 6-8-8-8 |40.3| — 9 414 | AKNET (BHE)
d > DI a i 54.0 @ (-4 | (B J PN
L:ZXgr T bt —Frp—K=K B:X¥/7Ov¥L BRiAYIS
S, =8 =Tk : —5-4- - NS (BHE)
s 6| xxHF2— i 3 i54.0 1.(313).9 8-5-4-7 | 41.2 5 <i§§) *#Eézt
R:O0-KpF0O7 B:EYaF)— BH4s
. . PNEEFIIE :36. -10-10- . — MO (BEE)
olglo|A>~1xm> it 3 oo (1;{6% 9-10-10-10 | 42.3 8 ig)s i
R:Fh—y BiA—HAIIIA ZAHAE—FRF—TI
R o BRER— :36. —3-4- . - HBHSHH (BEE)
wlzl 7| m1>727-¢ 4 3 s 1(316)5 2-3-4-9 | 43.8 10 (4_227) il
R:TTYIEAK BIX /NI EEe
® 1 —F—@EBIERL
13—7+— 1,7,10,5,8,2,4,6,9,3
DI —5F— 1,5,7,10,6,4,8,2,3,9
Ja=9= 1,5,10, (4,6,7),8,2,3,9
43—+ — 1,5,10,4,3,8,6,2,7,9
[ N5
B 5 300M 714K 5-10 250 e E 5-8 4501 JEE 1-5-10 2,090M
B B 5 1504 =5 770 B = 5-10 510 3EE 5-10-1 7,190
10 1504 1-10 770M B H 5-10 940M
1 300H

ARICOVWTRDTEEERROODE. TR LI,



